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象
“
dOn― A

ffq i i 6tq t 3rFltfrql ff <{ * fsqs8 er0rqfu i i
3tqffi+d c-{iqre3ilr(**€

(a) F#H,*,u O) - gqsr 3nsai-
*i.as,*n++" rEnrifaqglFr6,n6*ft

(c) ffi (d) --rs6r3r{fi,scq-
Which of the following is the corrcct expression.for the rate of rcaction ?

Mole unreacled .'" Moles of prodqc! fgr-med

(a) v.ffiffi;ffi; (D, 
-volumeof 

fllid.. 
..

0     0 )lumc Of nuid x Time

(l(〕 18)
PT()
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(ii) gfi sfrfuslff sflurFrsdr fr Sndwr*s{r{ttfr t r

(a) crifusq{urfi<r}edrdq

O) :ntrfu+qorfi cnelqre 3rk6rro

(c) sqfr* qot{ sfoinr+ dk vsrq

(d) sifrcq{uri 3rFr*lre srt{Tflrq

Moiccularity or a reaction is cqual to the totai number of

(a)  PrOducts fol==lcd in thc elcmcntary stCp

(b) Rcactants●よing partin clcmcntay stcp

(c)  Reactants and products in thc clenlcntay stcp

(d) Reactants and products in the flnal stcp

(liり 爺謳lu請諭轟 引:ミ ?

(a)J/mOl              (b) k

(C)mOl               (d) mOl k

Whatis the unit ofactivation cncrgy?

(a)J/mOl             (b) k

(C)m。1              (d)mol k

(市)昴織可諭驀諭轟 さ

(a) mol L~:Sl           (b) mOIL S!

(c)mol L~lS            (d) mOIL S

The un11 0frate ofreaction ls

(a) mol L:Sl           (b) mOIL S l

(c)molL iS            (d) m。 lLS
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(v) ffifun fr n f*-s 3lftlfiIi 3rfrffiql fi < kd<{ Rni6 ql q-tr{ i ?

(a) sEqmcqfthql (b) ffimqfigfthn
(c) vqqsifrfisfiIPfiqr (d) ftfrs61tff3l0lPfrqr

In which of the following reaction the rate of reaction is a firnction of rate

constant alone ?

(a) Zero order reaction O) Third order reaction

(c) First order rcaction (d) Second order reaction

(vi) sqrsdi 5q fr fu ftCfi + ff,s k*Eq qf6{ul t
xA Xl .--
1dX^ f fia

(a) ,=No" J li o) ,= J d
gO

xA Xo .-.
1" dX. f fir

(c) t=Nn" J ii (d) ,= J *;
6O

The design equation for Batch reactor in inrcgnl form is

xA Xn .-.
ffi^ ffin(a) ,=N*J { o) ,=J {
gO

xA X^ .--
rdX^ f fia

(c) t=No" J * (d) t= J -'*
oo

(vii) *s scq 61 

-* 

w d qfu+rRa ftqr qm i t

(a) frs *r6ri 3{rro 61 fr}s fi}} ftq :me{Tr scs

(b) 3rfrFfiqlti+fdCaflEIFFEqrrq

(c) ser< * f+ri errq'm sr 3-f,r€ ili * fte srq{rs qqq

0繭 載 赫 龍 諭却 爾 論 漁` 載 ¬翻

Space time is defined as

(a) Time rcquired to process unit volume of feed'

(b) Time requircd for the reaction to occur'

(c) Time required to produce unit volume of prodrrct'

(d) Time to process the entire volume of leed enlering 
p.T.o.
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(前i)魚 前哺¬哺i―

(a)SCC              (b)SCC i

(c)m3               (d)m3

nc unit OF spacc velocity is

(a)  SeC                            (b)  SCC~1

(c)m3               (d)m3

(破)甲 急 椰 雨 魚 羽 希 fれ,れ 煎 は 司 師瓢 PFR__ゴ い さ

(a)含鏑                (b)aq`I

(c)き 。HH        (d)""lで 諭可平論

For a conStant Volume system,the size of batch rcactor is_PFR

(a) Smaller than           (b) Largcr than

(C) Salne as              (d) Carulot bC COmpared

(X)CST由 腋 爛 押 n― ____ミ |

(a) てデ|:=i:)

(1,) τ=≒

(C)τ =CAo(イ A)

(d)τ =CAo(~rA)

Thc perfol‖ lance equation for CSTR is

Oと =≒

Oτ =≒

(C)τ =CAo(~rA)

(d) τ= CAo(~rA)
(lX10)
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t mq-f
Section - B

s-trqqfrq ft rganfr+ sr0rP#cr{T<{sufffrq r

Differcntiate between the reversible and irreversible reaction.

*sirrqrt ? w$lq I

What is space velocity ? Explain.

tq ftq€( iln wq d ftc€{ t r<r frrfuq r

Write the difference between Batch rcactor and plug flow reactor.

3rfthqr fi qt d vtTrfta 6A qre qn*l cl qoia 6fuq t

Explain factors affecting rate ofreaction.

csrRc{riftsQsuftffifuq I

Write short note on CSTR.

cn[fu6 G 3mtlfud srftBrqr 6r qoh 6fqq I

Explain elementary' and non-elementary reaction.

r[q dft \rE [ftq 81fr arfficqfrq nFrf*ql ur s<rwr {frq t

Give examples of zero order and third order irreversible reaclion'

7317

(3)

(3)

(3)

P.T,O.

(3)

(3)

(3)

(3)

ヽ
，

4

く
υ

(3)

7.

9. qnqifi,rac{dfuHQssff ftfuq t

Write short note on holding time.
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れ頭 ―輸

Section― (〕
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lo.瀾れ無弧希欽 ■ボWn―転 載 :

t=CAoll≒ =_了
寺

°       CAo

For ideal batch reactor prove the given equation:

t=CAolI≒ =_了
寺

°       CAo

(8)

ll. qqFfrr qi rqm ffi gra sra Frecq 6r qoti fffrq r stfr fcfuci { Eaa S
fffes r

Describe integnl merhod and differential method of analyzing data Also compare

both the methods. (8)

r z. yqq +ifr raqufrq 3rfrPfifi + ffiSqm+fud q( Eic-6 gilr fffrS r

Derive the integml rate expression for firsl order rcversible reaction.

13. s( q*pn ftBm d ftq€{* ftlqts sqsoreiq* vnfiftq t

Obtain expression for space time for steady state mixed flow reactor.

14. sqrt6 ftq{s{ qi v+rv <rmqh-o ftqfi ot qoic *Pqq t

Explain Adiabatic r€actor and Photochemical Reactor.

(8)

(8)

(8)



(lH5001 (71):8) 7317

I 5. aS orftFrsr ff < - rn = 0.005 cnz *6ffir g. i r qR sr<cr oi #ef*a slt trqc

+t sot t !-fia *.€r t, ii < RRi6 ql rnq e tor{ srd +t r

A certain reaction has a rate given by - re = 0.005 Co2 moVcm3 minute. If the

concentration is to be expressed in mole/lt and time in hour, what would be the value

and unit of rate coru ant ? (8)
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